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3. 1.2.?:.4 ﬂﬂm.gr.ﬂtﬂ@a@&@ﬂ uflana o, o @), e sreirn @It
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Q. Qm Answor Q. | Opti Answer
- No | ion No | on S
1 2| aullewa tipmiing 2 21 2 | 21 R
D 21 [,
RN BT
v | 4 b 2|3 |53
— - - S — - - —— — P —————— e -—.-._2
5 2| Y- ondg @emsoonumesr g, 25 2 |2
Qenirsmsnds; Qent NGt H 2_sdor () 3
6 | 3 |whk 26 9
7 4 2 (T2l ; .
r ) (i P;‘J :;i_..)k) + 27 X = — ety Gri&Gam(E)
t (1 + 57 + ;k)
8 1 | dlems Gougdleor smisny/Crrsdler | 28 2 |f(x) =0
6UEMITLIL_LD
9 | 4 |S 29 | 2 |y= 434
- e . — 6
10 | 3 | (i), (iii), (iv) 30 | 4 | Leos™!xsinx+
n
n-—1
N () tn-s
11 1 (6, 6) 31 2 0
12 | #& | @y Neoaeir Gy sissorenfldsne, 32 1 | 4y _
(‘-‘H’T; _m_teh L d dlrbenemer, Ly & dlunmm dx Ay
ey o min iy psITerers,
Gl dhensomn
13| 2 |x=ce™ 33 | 3 | du_0f dx  of dy
. dt ~ ox'dt ' ay'at
12 | a 1 34 | 2 [0 0 ]
oVan 0_ 5%
= R - S
16 3 |2 36 2 CoS x
= _‘__-_-_—____"—————____
17 2 |1 37 | 1 | k3detAq
3
B e
18 4 |1 38 1 (0, 0, -4)
2
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Q. | Optio
No '?1 Answer p?' Optio Answer
0 n
1 1 (6:6) 21 3 5_\/'_3]
2
- 2_|x=ce ™ 2| 4 |12
3 5
: y=rex 23 3 2
31 3 |k 24 1 |9
a 1
. 5 25 1 | k3detA
6 2 | suflswg 1 ohmid Ll 2 26 ) 1
-7 | 1 - = =
(0, 0,-4) 27 | 4 | #=(T+3]+5k)+
t (457 + gl}')
8 | 1 ( -3 _8) 281 2 ([0 0
2 [0 512
9| 4 (2 5, %) 29 [ 4 |5
10 | 4 _|@m [Elﬁmm‘:ﬁﬁﬁ@@ﬁ 6T6vNT 6001 56 30| 2 | cosx
2,3 hj)eemLw L FSmismer, L Fdlwomm
2 MIUSIDE (peTaTHTa
GumrlmSesur
11 2 Y-D|FGG(S @lenSITILITET 6(T5 31 2 (logéz,log ﬂ_a)
GClamrameag GarEeasr(® 2 e 8, Ay
12 2 2 32 1 | dloms Gaugdler emiey/
3 Crrsdlstr susnyuL_th
13 | 3 | (i), (i), (iv) 33| 4 | ba
14| 3 |du_0f dx , of dy 341 2 | (=mm]
dt dx dt 9y dt
15 1 9 35 2 27
16| 1 | 4= L srinp Gpi&CaT0 6| 2 | f(x) 20
17| 3 [ (x) =0 371 4 [60°
18 1 -t 38 1 & g
: e Ay
dx
19| 4 1 39 2 |0
5+y2m '
: b
n-1
() s
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Y& @iy : g @it L Hon sants Qnhs oEmars emiks Whos af,xrﬂam
oflurs @awndsr (@ama wHiGQusr 165@ Cueres AEEEGLeUTE) SES ﬂlrﬂ&@ﬂiﬁ?ﬂ{i
wHiQueinsomr ok Hoasehu wHGUGTmGwLE ( stage mark) NzE

Qar@ssiu. CusmGin. Hoanseiy @ LAIGURTmeMYDL QMIDUTE LEISS0
gl W

41 l
1 1 -1 o0 | |
4 - (z -3 0 —1) Ry & R, |
0 1 2 1 'f
1 1 -1 o0 | ,
- (0 -5 2 —1) R, > R, — 2R, |
01 2 1 | |
N O U -
- (0 -5 2 -—1) R; > 5R; + R, :: ﬁ
0 0 12 4 1 5
| |
-
. p(A) =3 : ;
Note : The Sequence of transformation need not be sama |
42 4l = 2 K
_ 2 -1 =2 I .
adj A = (2 =, .—2) 3
6 -5 -8 '!
¥ i = |
A1 = %(2 7 —2) | 2»
6 -5 -8 |
43| x-1 -1 z+1 = 5 e
e Y = (or) P 251 o | 2
-2 ~1 2 1 -2 1
Xy sergdlen swsur® z =0, ear sigs | 1
G’ 1y Qesmeirigmid Lsafl (0,5 ,0) 3
441 @  Finding (@-d)x (b~¢)= Gxb-dxZ-dxb+dnz } 1
3 g 1
d—dufgid b — ¢ Ememmurerans .
(i}  Swe aNfghise = (14,-3) whmin (-1, -4, 3) 1

V2 +m? +n? = V26

Heng QeremasresT = + (-1_ A “_3)
— \VZ6’ V26’ V26

V4
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45 = I f
a4 fi = =22 f
oft =1 !
a’ A fi* = aff = ~1 4
Note : This problom can he done by direct wity
46 | Gompmui g
A n”lqj
Ve
0 =
AB = JT04 ; BC=V52 ; A= 52 &
c Glenr(leennn’ L onsriGluedarensit oy cnat e dblas aacy GG 1 |
(pehentrannr momesy o smines i)
Note : If anybody solves this problem without diagram, don’t
deduct the diagram mark.
—t——————— g N
W 'ﬁ-:v: -6 sin (2t — 4) z
,2 - -
“l=a= —12cos(2t—4) 1
dt®
At t=2 v=>0 1
At t=2 a=-12m/sec? 1
K.E=10 1
58_ dy 4 - é- ,__. 5, N - i e
i) kR (3 —2x) 1.
=0,2 =
x=0,3
(ii) y' = e* 1
y'=e*>0, VYV x€R 1
Ra& ZpCrradl @eflal (or) (—w,m)
(or) 1
R & CuaCkradl @il (or) (—un, »)
49 A = 1r rz = s iy T v 1
% =2nr 1
e gfleus g A = 096 1 cm? 2"
sriileng = 0.0017 (or) Ggrymu iy 2

5

Math (1)—2

Scanned by CamScanner



1591 PP—4p+i=y 5
I C.F=A4e@3x ; pol2-vaix 2
i Pl =x?+8x+30 1
—————-____X__Ae(z*‘—)‘ + Bel2V3)x 4 32 4 g2+ 30
p q ~q |[pv(~@ | qv(pv (D)
T T F T T
i | T F T T T 4
F T F E i
F F T T T i
Wy S .
SUQare Horéeh ¢ bEN0LTT agRBILL Caam G
&soLdl sy (epsugnn T 2_6TaTE) 6Tl 67108 ]
qV(pV(~ q)) setrusy Quotienieuingn ;
1
i Note : Instead of T & F one can use 1 and 0.
| 52
Plaq! r |paq| ~T PAQV(=1)
Tit|nx T | F T
TIT| ® T | T T
T|F T F F F
T|F| F F T T
F
FyT| T F F 5
FIT| F F T T
F{F| T F B F
FlF! F F T T
(e2Qarm Drgué @it g wHIQAUsT)
Note : (i) The order of the truth values need not be same
(ii) Distribute the marks suitably.
{iii} Instead of T & F one canuse 1 and 0.
53 | {i) uLLD
,—m 2*
B, i -
- e =0
c=-1.65 1
(i) (m+1*-m?=11 i
m=2>5 1
1n =36 1
Note : instead oi m, one can use any other variable and mstead
of m+1 one can take m aiso.
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T e
X=x | o 9 -
P(X=x) | 1 1 1 3*
4 2 1
var(X) = % 5
ki This problem satisties all the conditions of Binomial
dlﬁtrlbut!on. Hence one can solve by taking mean = np and variance
= npq
55 2 1
(a) 20 15
) 1
2ae = 20 1
az =175 1
=25 *
(y—5)2 _ (x—2)2 -1 o
j 75 25
55 | (b)
y
2
a/ﬁk x‘
O -
J 2
_ o x(x-a) -
Vv =[ 7= —dx
o g
T 24
u it
4
— ﬂ = ﬂ = ﬂ :0 . ‘ - . '
(56 i A Z ﬁy—ﬁﬁng;mmré@ 2 x 2 AameeseComsmaudsilar LGS LD 2
y By By =2
Lh - - - - -
jié'(?mﬁh A—arl1xl Ammsofl Gamemanlsar oI LD S, 1
QsrP&siuc- FerUT(EST @G hISM0a] 2-SLWET. hpIE STTERTHD 1
rajsear QuAEEHEGE . -
i y=sandz=1 6615 Qamers 1
y=4-—s—2t, y=5, z=1; s,tER 1
Note :Instead of the parameters s, t one can take any other J
parameters and in any order
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To find
Eﬁ=cosA?+sinAf
0Q =cosBi-sin BJ
HQ' . OP= cosAcosB-sinAsinB
0Q .0P= cos (A+B)

Towrite cos(A+B)=cosAcosB-sinA sinB

58

d=30+ 4]+ 2k, b=2i-2f-%k, ¢=7i+k
GG e QeusLi Fuarur®
7= (31 + 4] + 2k) + s(—7 - 6] - 3K) + t(41— 47— K)
(or)

T o=(1-s-t)(37 + 4 + 2K) + 5 (20- 2f- K)+ £ ( 7T+ )

GoTgEsI &mile Hlwsr sudTur®
x-3 y—4 z-2
—1 -6 -3 =0
4 —4 -1

6x + 13y — 28z —14 =0 (or) —6x—13y+282z+ 14 = 0 2

Note : The order of vectors @, b, ¢ may be in any order

2'*

3*

59

To write ﬁﬂ = 0where x = —1
x+1

1
consider x = (—1)3

x = cos(2k + 1)§ +1i sin(2k + 1)-‘; ,k=0,1,2,3,4 3*

- L M . 3 . . Ir .
Lol &6 TeaLeTT cisz, €S —, cism, cis < Cis — 2

5

” . ] - o i 3n & 7 N
apemad x # —1, srenGeu Cxemanumar wHlySST cis 5 Cis =, cis —5’3, cis -935

Note : This problem can be done by multiplying both LHS and RHS

by (x+1) where (x+1) # 0, instead of using G.P

9
5

1
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60|
—— V(0M
/#M, — e "---u:v_‘_-_._-’—_':h"":‘.—— 3 )
.{ ; \
I L1 6 s
(-6, - TSR '
H (6, - 4)
2 . 1
X5 = —day otoonth 9
4a =9 ora=- 1
4
To arrive x* = -9y 1
ﬂ{ . ux
dx = -;)- 4 2*
Gasmanuren afiCamsonn= tan™ ' (T)
61 e — A et -——— —— R
e i _"'—-'_““——_‘-u (6-)“;'
6
‘ 10 - S . B 3
N 5 1 >
(-10.,0) i i (10.0)
12 k\
L
2 2 ;
To arrive —+%L =1 3*
100 36 1
For Substituting ( 6, y,)
Ggemeumeor 2 wgn =16.8%t ____1_____
62 | HGmrEy Qarened QgnHiean@ 2x-y+k=0 2
Qasieus yHLaIeneTILGE60T guearur@m(x + 2y —=5)(2x -y +k) +c =0 3*
k=4,c=-16 :
Ggpamaumes Ggeinis IlurensmemiugElsar &osarum(y)
2
(x+2y-5)(2x-y+4 ) -16 =0 Or any other {»:m
Note: One may take the unknowns k, ¢ in a different manner
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r__g__s___ e e o i e A e -
"
4
i1 =(14)
2
P o=
(r.y)
0 {i\ ¥ x
d= J@x- 1)+ (y-4a) 2
g 2
[0)= (352 -1) +(y-ay !
| y=2 ?
i » ’ .
| y<2aefio , f'(y) <0, y> 2, aefld f'(y) >0 1
| #y =2 aafld f(y) & figy wHieu Qugpith 1
| .
; Cpmammar yarefl (2,2) 1
|| Note - Second derivative test may be used
E 64 du 1 2y 2
| Pl +=3 (or) any other form
du —-2x 1
-3 "z  lor)anyotherform 4
9%u _ 2 2
a5 + = (or) any other form 2
a%u 2 2
o 7 + = (or) any other form 2
a%u bl a%u
dxdy - dydx 2
65
p
T 2= (bia) Y(a? - ;
(7] a o
3
ferou’L e iy = 4[> VaZ — 22 dx -
i [f\faz —xZ + u—zsin"1 (f)r
a |2 2 all, 2
Bereu_ L gdlstr upty = mab
Note : (i) Parametric form can be used. 2
(ii) Instead of 0 to a one can use -a to a also 2
10 \_______
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66 & ;
ar  ~ a(l-cost) ; —:}Z asint
Z 2 .
Posina (&) + (4" - zamn '
Spanwnar asmennieonuin fomi - f, 24 aln; dt 3
- 4a *
o - dr : 2
= k(T — 53) s
T - C “kl 5
T = 15 + 85 X ;
To find e* ::: '
ToarriveT 38.82" ?
68
.| 1]ale |[c |D [E
1 [+ [a |B |c |D |E |
A |A B I |E [C|D |
8 |8 |1 |a]|D |E |C 1
¢ |[c |p [e [1 |a |B |
D |p |[E |[c [B [1I [A |
(e [e [c o [a [B ]I |
1) gl amenddais e iy df e srmsusdng I 1
2) Gatiy i a.aireuur Apg | : |
3) suefl A giiy | @b ;
4) I dr v = 1 |
A gr srfiluap = B ‘| |
B dr smBiiwep = A I ] '.
C lircrﬁlhnwp - o : '
D dr ergfiueny = D ! *
E ¢t erfihoeop =E : '
B3 66 Guurg. L

Note : (i) If some elements are incorrect in the table, then award suitable
marks after deducting for Incorrect elements.

(ii) If one writes the heading only, then award 2 marks (4 x :)

11
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o0 3'
TQ'_/\ To prove _rﬂ 303’49"6"5 dx = 1 for p.d.f.
1 ¥
Towrite F(1) = [} 30x*e™6* dx
1
For substitution
3
4 1 -6
Tofind F(1)= 1—-—% or'’l—¢
L - &
Qen@usralsst (4, 6) &
LOmID (—4,—6) ereard Smswr ; :
QsrRésrRast 2x + 3y — 26 = 0
Wi 2x + 3y + 26 = 0
Ng)te By takmg Ihe tangent as y = mx + ¢ and using the condition
c® = a* m® + a?, one can sclve the problem
70 | {b)
Totakex+y=z 1
ﬂ dz 1
dx = dx ' .
2E= 242 i 2
= ! or) any suitable form
fzz+a2 dz = [dx 2
z—atan™! G) =x+c 2
y-atan™ (f?) =% 2
Note : One may add the arbitrary constant in LHS also

12
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